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Carefully read the instructions given on Question Paper,
OMR Sheet and Answer Sheet.
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Question Paper is in English language. Candidate can
answer in English language only.
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There are TWO PARTS in this Module/Paper. PART ONE
contains FOUR questions and PART TWO contains FIVE
questions.
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PART ONE is Objective type and carries 40 Marks.
PART TWO is Subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER
SHEET only. PART ONE is NOT to be answered in the
answer book for PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR.
Answer book for PART TWO will be supplied at the table
when the Answer Sheet for PART ONE is returned.
However, Candidates who complete PART ONE earlier
than one hour, can collect the answer book for PART TWO
immediately after handing over the Answer Sheet for
PART ONE to the Invigilator.
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Candidate cannot leave the examination hall/room
without signing on the attendance sheet and handing over
his/her Answer Sheet to the invigilator. Failingin doing
so, will amount to disqualification of Candidate in this

Module/Paper.
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After receiving the instruction to open the booklet and
before starting to answer the questions, the candidate should

ensure that the Question Booklet is complete in all respect.
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1.1

1.2

1.3

PART ONE

(Answer all the questions)

Each question below gives a multiple
choice of answers. Choose the most
appropriate one and enter in the “OMR”
answer sheet supplied with the question
paper, following instructions therein.

(1x10)

Java is  platform independent

programming language because :
(A) Itis written in almost similar manner

as English language.

(B) It compiles to an intermediate code
targeting virtual machine, which
can be interpreted by an interpreter

for given OS.

(C) Java compiler translates the source
code directly to the machine level
language.

(D) It follows the concept of “write once

and compile everywhere”.

Which of the following is class in Java ?
(A) int

(B) string
(C) float
(D) short

In Java which of the following data type
groups are of same size ?

(A) int and long

(B) long and float
(C) float and double
(

D) int and float

)
)

1.4 Which of the following is not object-

1.5

1.6

oriented programming paradigm ?
Encapsulation

(B) Inheritance

Polymorphism

Dynamic memory allocation

Which of the following features are not
common in both Java and C++ ?

(A) The class declaration

(B) The access modifier

(C) The encapsulation of data and
methods

(D)

Pointer for referencing

Which of the following is called when a
method having the same name as that the

name of class where it is defined ?

(A) abstract

(B) this

(C) constructor
(D) final
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1.7

1.8

1.9

1.10

class Test {
public static void main(String[] args) {
for(int i = 0; true; i++) {
System.out.println(“Hello”);
break; }

}

A) Hello
Compilation fail
C) Runtime error

D) Infinite loop

Which of these methods is a part of
Abstract Window Toolkit (AWT) ?

(A) display()

(B) print()

(C) drawString()
(

D) transient()

Which of these assignments is invalid ?

(A) float f =4.3;

(B) short sum = 48;
(C) double d =4.3;
(D) intI="1;

Which of the following keyword is used
to refer to member of base class from a

subclass ?
(A) upper
B) super

this

(
©)
(

D) none of the above

2.1

2.2

2.3

2.4

2.5

2.6

2.7

2.8

2.9

Each statement below is either TRUE or
FALSE. Choose the most appropriate one
and enter your choice in the “OMR”
answer sheet supplied with the question

paper, following instructions therein.
(1x10)

A break statement must always be present
in the default case of a “switch” selection

structure.

An array in Java can be used to store same

types of data only.

Static method of the class can be invoked

without creating object of the class.

Final keyword with method is used to
prevent method overriding in subclass of

the class.

In an instance method or a constructor,

“this” is a reference to the current object.

Garbage Collection is manual process in

Java.

Assignment operator is evaluated Left to
Right.

Variable name can begin with a letter, “$”,

“

or

We can create object of Interface in Java.

2.10 A .class file contains bytecodes.
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3.  Match words and phrases in column X with the closest related meaning/word(s)/ phrase(s)
in column Y. Enter your selection in the “tear-off” answer sheet attached to the question

paper, following instructions therein. (1x10)
X Y

Variable declare inside any method or any ,

3.1 A. |Object
loop

3.2 |A library of classes is B. |[Memory allocation

3.3 |Arraysin Java are C. |Identifier

3.4 |Finally keyword is used in D. |Package

3.5 [new keyword E. |Local Variable

3.6 |A reserved word cannot be used as F. |Upcasting

3.7 |Date class G. |Exception Handling
super() can only occur as the first statement in )

3.8 H. |Runtime
a

3.9 The concept of assigning the object of I |Compile time
superclass to subclass

3.10 |Exception occurs at J. |Dictionary

K. |java.util package

L. |Constructor

M. |Down casting
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4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list
below. Choose the most appropriate option, enter your choice in the “OMR” answer
sheet supplied with the question paper, following instructions therein. (1x10)

A. |Object B. |Finally C. |Static

D. [java.util E. [java.lang F. |Final

G. |Use case H. |MouseMotionListener I. |Same

J. |Implements K. |Abstract L. |Different
M. |Extends

4.1 Data members shared among all instance of that class are

4.2 Default package imported to all java classes is

4.3 Try can be followed by either catch or

4.4 diagram shows a set of use cases and actors and their relationships.

4.5 The class which is super class of all classes java is

4.6 In order to capture the events when mouse is dragged, interface is used.

4.7 keyword is used to inherit interface to class.

4.8 Classes which cannot be instantiated, but they can be sub classed are

4.9 To prevent class inheritance keyword is used.

4.10 Package statement helps to create many classes to have name.
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PART TWO

(Answer any FOUR questions)

5 (a)
(b)
(c)
6. (a)
(b)
(©)
7. (a)

Explain the object oriented concepts :

class, object, encapsulation,

abstraction, inheritance.

Explain the use of super and this

keyword in Java.

Create a User Defined Exception
named CheckAge to check the age
entered by user is valid or not. If
the age entered by user is greater
than 100 than throw CheckAge
exception else print “You have

entered correct age” message.
(5+5+5)

Explain multilevel inheritance in Java

with suitable example.

Differentiate between abstract class

and interface.

List types of JDBC drivers and
explain any one along with its

advantages and disadvantages.
(5+5+5)

What is Thread ? Explain the
thread life cycle in detail.

Explain the concept of constructor
chaining in inheritance with suitable

example.

What are UML class diagrams ?
What is
relationship ? Explain it with

generalization

suitable example. (5+5+5)

Briefly explain the all keywords

associated with exception handling.

Write a Java program to find
maximum number from the array

with 10 elements.

What is an applet in java ? What are
basic methods defined in an Applet
class ? Explain advantage and

disadvantages of an Applet.
(5+5+5)

Describe Event Delegation Model in
detail.

List access modifiers available in Java.
Also, explain the scope of each access
modifier.

Briefly discuss importance of

following diagrams in UML :
(i) Interaction Diagrams
(i) Activity Diagrams

(5+5+5)

-00o0-
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